
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1198 × 0.001 = ________ 3226.6 × 0.001 = ________

5493.7 × 0.0001 = ________ 1216 × 0.01 = ________

2202.8 × 0.001 = ________ 7270.6 × 0.0001 = ________

2896.9 × 0.1 = ________ 3813.8 × 0.01 = ________

7130.6 × 0.1 = ________ 6698.5 × 0.0001 = ________

3932.5 × 0.1 = ________ 7128.5 × 0.1 = ________

1674 × 0.001 = ________ 7832.6 × 0.001 = ________

9979.5 × 0.01 = ________ 1668.2 × 0.1 = ________

1065.1 × 0.001 = ________ 2253.6 × 0.001 = ________

3966 × 0.001 = ________ 3714.7 × 0.0001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1198 × 0.001 = 1.198 3226.6 × 0.001 = 3.2266

5493.7 × 0.0001 = 0.54937 1216 × 0.01 = 12.16

2202.8 × 0.001 = 2.2028 7270.6 × 0.0001 = 0.72706

2896.9 × 0.1 = 289.69 3813.8 × 0.01 = 38.138

7130.6 × 0.1 = 713.06 6698.5 × 0.0001 = 0.66985

3932.5 × 0.1 = 393.25 7128.5 × 0.1 = 712.85

1674 × 0.001 = 1.674 7832.6 × 0.001 = 7.8326

9979.5 × 0.01 = 99.795 1668.2 × 0.1 = 166.82

1065.1 × 0.001 = 1.0651 2253.6 × 0.001 = 2.2536

3966 × 0.001 = 3.966 3714.7 × 0.0001 = 0.37147
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